A SUMMATION FORMULA FOR ESTIMATING THE SURFACE AREAS OF ELLIPSOIDS *

Anil Kumar, V. Vishnu, B.

(Kelappaji College of Agricultural Engineering and Technology, Kerala Agricultural University, Tavanur, Kerala, 679573, India)

Abstract

In this paper a summation formula for finding the surface area of general ellipsoids is derived.

Mathematics subject classification: 65N30.

Key words: Ellipsoid, Prolate spheroid, Oblate spheroid, Summation formula.

1. Introduction

Very tedious methods are employed at present to obtain the surface area of general ellipsoidal objects as no direct analytical formula is available. In the present work, we derive a simple summation formula for the purpose. Using it in a simple computer program, the surface area of any ellipsoid can be evaluated.

2. Derivation of the Summation Formula for the Surface Area of General Ellipsoid

The general ellipsoid is given by the equation

$$\frac{x^2}{a^2} + \frac{y^2}{b^2} + \frac{z^2}{c^2} = 1\tag{1}$$

where a is the semi-major axis, b is the semi-intermediate axis and c is the semi-minor axis. It is symmetrical with respect to each coordinate plane and the origin. If b = c, then the ellipsoid (1) is called a prolate spheroid and its surface area is given by [7]

$$S_p = 2\pi b^2 + 2\pi \left(\frac{ab}{e}\right) \sin^{-1}(e) \tag{2}$$

where $b^2 = a^2(1 - e^2)$. Similarly, when a = b, we get the oblate spheroid and its surfrace area is given by [7]

$$S_0 = 2\pi a^2 + \pi \left(\frac{c^2}{e}\right) \ln \left(\frac{1+e}{1-e}\right) \tag{3}$$

where $c^2 = a^2(1 - e^2)$.

Solving for z from (1) gives

$$f(x,y) := z = \pm c\sqrt{1 - \frac{x^2}{a^2} - \frac{y^2}{b^2}}$$
 (4)

 $^{^{\}ast}$ Received December 26, 2001; final revised September 6, 2002.

Similarly solving for y and x,

$$g(x,z) := y = \pm b\sqrt{1 - \frac{x^2}{a^2} - \frac{z^2}{c^2}}$$
 (5)

$$h(x,y) := x = \pm a\sqrt{1 - \frac{y^2}{b^2} - \frac{z^2}{c^2}}$$
 (6)

Observe that the orthogonal projection of (1) in the xy plane is the elliptic disc $R_1 := \left\{ (x,y) : \frac{x^2}{a^2} + \frac{y^2}{b^2} \le 1 \right\}$. From equations (4), (5) and (6) we find that f(x,y), g(x,z) and h(x,y) are positive in the upper half of the xy plane and the partial derivatives of these functions are continuous in its domain. Hence to evaluate the surface area one can use any one of the following formulae [8]:

$$S = \iint_{R_1} \sqrt{(f_x(x,y))^2 + (f_y(x,y))^2 + 1} \, dx dy \tag{7}$$

$$= \iint_{B_2} \sqrt{(g_x(x,z))^2 + (g_y(x,z))^2 + 1} \, dx dz \tag{8}$$

$$= \iint_{R_3} \sqrt{(h_x(y,z))^2 + (h_y(y,z))^2 + 1} \, dy dz \tag{9}$$

From (4)we find that $f_x(x,y) = -\frac{c^2x}{a^2z}$ and $f_y(x,y) = -\frac{c^2y}{b^2z}$. Also in the region R_1 , x varies from -a to a, and y varies from $-\frac{b}{a}\sqrt{a^2-x^2}$ to $\frac{b}{a}\sqrt{a^2-x^2}$. Inserting the values of $f_x(x,y)$ and $f_y(x,y)$ in equation (7) and simplifying one gets,

$$S = 8 \int_0^a \int_0^{\frac{b}{a}\sqrt{a^2 - x^2}} \sqrt{\frac{1 - \frac{x^2}{a^2} \left(1 - \frac{c^2}{a^2}\right) - \frac{y^2}{b^2} \left(1 - \frac{c^2}{b^2}\right)}{1 - \frac{x^2}{a^2} - \frac{y^2}{b^2}}} dxdy \tag{10}$$

The transformation $y = b\sqrt{1 - \frac{x^2}{a^2}} \sin \theta$ reduces the integral (10) in the following form:

$$S = \frac{8b}{a} \int_0^a \int_0^{\frac{\pi}{2}} \sqrt{\left(\cos^2\theta + \frac{c^2}{b^2}\sin^2\theta - \frac{c^2}{a^2}\right)(a^2 - x^2) + c^2} \, dx d\theta \tag{11}$$

Letting $x = a \sin \phi$ in equation(11) one gets,

$$S = 8 \int_0^{\frac{\pi}{2}} \int_0^{\frac{\pi}{2}} \left[a^2 \left(b^2 \cos^2 \theta + c^2 \sin^2 \theta \right) - \left(a^2 \left(b^2 \cos^2 \theta + c^2 \sin^2 \theta \right) - b^2 c^2 \right) \sin^2 \phi \right]^{\frac{1}{2}} \cos \phi d\theta d\phi$$
 (12)

Similarly, from equations (8) and (9), we get the following integrals.

$$S = 8 \int_{0}^{\frac{\pi}{2}} \int_{0}^{\frac{\pi}{2}} \left[b^{2} \left(c^{2} \cos^{2} \theta + a^{2} \sin^{2} \theta \right) - \left(b^{2} \left(c^{2} \cos^{2} \theta + a^{2} \sin^{2} \theta \right) - c^{2} a^{2} \right) \sin^{2} \phi \right]^{\frac{1}{2}} \cos \phi d\theta d\phi$$

$$S = 8 \int_{0}^{\frac{\pi}{2}} \int_{0}^{\frac{\pi}{2}} \left[c^{2} \left(a^{2} \cos^{2} \theta + b^{2} \sin^{2} \theta \right) - \left(c^{2} \left(a^{2} \cos^{2} \theta + b^{2} \sin^{2} \theta \right) - a^{2} b^{2} \right) \sin^{2} \phi \right]^{\frac{1}{2}} \cos \phi d\theta d\phi$$

$$(13)$$

Observe that equations (12), (13) and (14) gives the same surface area. Defining,

$$A: = a^{2}b^{2}\cos^{2}\theta + a^{2}c^{2}\sin^{2}\theta$$

$$B: = b^{2}c^{2}\cos^{2}\theta + b^{2}a^{2}\sin^{2}\theta$$

$$C: = c^{2}a^{2}\cos^{2}\theta + c^{2}b^{2}\sin^{2}\theta$$

$$D: = A - b^{2}c^{2}$$

$$E: = c^{2}a^{2} - B$$

$$F: = a^{2}b^{2} - C$$

$$t: = \sin\phi$$
(15)

Then we find that

$$(a^2 - b^2)c^2 \le D \le (a^2 - c^2)b^2 \tag{16}$$

$$(c^2 - b^2)a^2 < E < (a^2 - b^2)c^2 (17)$$

$$(a^2 - c^2)b^2 \le F \le (b^2 - c^2)a^2 \tag{18}$$

Since $a \ge b \ge c$, from equations (16), (17) and (18), it follows that $D \ge 0$, $F \ge 0$ and E takes positive and negative values. Applying the transformations (15) in equations (12), (13) and (14) and simplifying, we get the following integrals.

$$S = 8 \int_0^{\frac{\pi}{2}} \int_0^1 \sqrt{A - Dt^2} \, dt d\theta \tag{19}$$

$$S = 8 \int_0^{\frac{\pi}{2}} \int_0^1 \sqrt{B + Et^2} \, dt d\theta \tag{20}$$

$$S = 8 \int_0^{\frac{\pi}{2}} \int_0^1 \sqrt{C + Ft^2} \, dt d\theta \tag{21}$$

As a special case, if a=b=c, then D=E=F=0 and hence equations (19), (20) and (21) reduces to, $S=4\pi a^2$, which is the surface area of the sphere. If any two of a,b and c are different, then D>0 and F>0. Hence equation (19) can be written as

$$S = 8 \int_0^{\frac{\pi}{2}} \sqrt{D} \int_0^1 \sqrt{\frac{A}{D} - t^2} dt d\theta = 2bc\pi + 4 \int_0^{\frac{\pi}{2}} \sqrt{A} \left(\frac{\sin^{-1}\left(\sqrt{\frac{D}{A}}\right)}{\sqrt{\frac{D}{A}}} \right) d\theta \tag{22}$$

Similarly, from equation (21), we find that

$$S = 2ab\pi + 4\int_0^{\frac{\pi}{2}} \sqrt{C} \left(\frac{\sinh^{-1}\left(\sqrt{\frac{F}{C}}\right)}{\sqrt{\frac{F}{C}}} \right) d\theta \tag{23}$$

Observe that equations (22) and (23) give the same surface area of the ellipsoid (1). Similarly the same surface area can be got from equation (20) also, but since E can be positive and negative the equation obtained for S will not be as simple as equation (22) or (23).

To derive the summation formula, divide the interval $[0, 2\pi]$ into N equal subintervals. For each

positive integer k define the following:

$$A_{k} = \sqrt{a^{2}b^{2}cos^{2}\left(\frac{2\pi k}{N}\right) + a^{2}c^{2}sin^{2}\left(\frac{2\pi k}{N}\right)}$$

$$C_{k} = \sqrt{a^{2}c^{2}cos^{2}\left(\frac{2\pi k}{N}\right) + b^{2}c^{2}sin^{2}\left(\frac{2\pi k}{N}\right)}$$

$$D_{k} = \sqrt{a^{2}b^{2}cos^{2}\left(\frac{2\pi k}{N}\right) + a^{2}c^{2}sin^{2}\left(\frac{2\pi k}{N}\right) - b^{2}c^{2}}$$

$$F_{k} = \sqrt{a^{2}b^{2} - \left(a^{2}c^{2}cos^{2}\left(\frac{2\pi k}{N}\right) + b^{2}c^{2}sin^{2}\left(\frac{2\pi k}{N}\right)\right)}$$

$$B_{k} = \frac{D_{k}}{A_{k}}, W_{k} = \frac{A_{k}}{B_{k}}, E_{k} = \frac{F_{k}}{C_{k}}, H_{k} = \frac{C_{k}}{E_{k}}$$

$$(24)$$

We note that equations (22) and (23) are contour integrals over the ellipses. Hence, in the light of equations (24) we find that good approximations to equations (22) and (23) are respectively

$$S = 2bc\pi + \frac{2\pi}{N} \sum_{k=0}^{k=N} W_k sin^{-1}(B_k)$$
 (25)

and

$$S = 2ab\pi + \frac{2\pi}{N} \sum_{k=0}^{k=N} H_k \sinh^{-1}(E_k)$$
 (26)

For the special case when b = c equation (25) coincides with equation (2). Also when a = b, equation (26) coincides with equation (3).

References

- [1] C. Igathinathane, P.K. Chattopadhyay, Numerical technique for estimating surface area of ellipsoids representing food materials, *J. Agric. Engng Res.*, **70**:4 (1998), 313–322.
- [2] K.R. Bhattacharya, B.S. Ramesh, C.M. Sowbhagya, Dimensional classification of rice for marketing, *Journal of Agricultural Engineering*, **19**:4 (1982), 69–76.
- [3] F.T. Wratten, W.D. Poole, J.E. Cheness, S. Bal, V.V. Ramarao, Physical and thermal properties of rough rice, *Transactions of ASAE*, **16**:6 (1969),801–803.
- [4] A. Hosokawa, K. Motohashi, Constant drying rate of a single paddy grain, Nogyokikai Gjakkaishi, 37:3 (1975), 326-330.
- [5] T. Mortia, R.P. Singh, Physical and thermal properties of short grain rough rice, Trans. ASAE, 22:3 (1979), 630-636.
- [6] A.S. Bakshi, R.P. Singh, Surface area measurements of rough rice, ASAE paper, No.79-3549 (1979), ASAE
- [7] N.N. Mohsenin, Physical Properties of Plant and Animal Materials, V.I. Gordon and Breach, New York, 1970.
- [8] E.W. Swokowski, Calculus with analytical geometry, Prindle Weber and Schmidt, Massachusetts, 1979.